Quiz V1 General Chemistry I Lecture Fall 13 Dr. Hahn 20pts 11/11 M 9:30 am Form A quiz #
Name qf\/\/ Name b { weé_

(print name) d (sign name) Please show all work for full (& partial) credit

1. Periodic trends: (10 pts, 2 pts each)

a. Circle the larger (higher radius) element: [(Si) ox@‘ (circle one) @ ? W "A 9@

b. Circle the element with the higher ionization energy: [(K) o {circle one)
(opPesice £0 5)2¢. OCruss gerisd SmalionSiee — Loy L&)
c. Cirtlé the element with the hikher electronegativity:  [(C) or @] (circle one)
F sl €nJ
d. Circle thg %;rger of the two choices: or (Na")] (circle one)

{ Oy W ler
e. (%le th;, mge r?:g%:t'ivg/ metal (in reaction where the \1}1@ is oxidized): or (Be)] (circle one)

-

( - r -
2. G%egl%ug“ds%otmm foHLeo gfgr'nel\iiF Make sure the dots are clearly visible. (5 pts)
¢0 Fin 9«@&«90 Yo A has
F — WA a
$Fe leret g N Olts, ¢ walls
3. Give the electron_configuration for the ion shown: Se? (5p
Tt 7cl b 7.2 L 5 7 # _¢
L,S.:blifﬁff}ff’)‘”/iﬁff ’
) dest v 4pt—Se
- a\act o P T
Se ™+ = Lac)ds) 2d T 4 ]

Extra Credit: The number of valence electronsin =~ H»Q s c"P (2 pts) (show work)
Whence 3 = 2(1) + %“‘ 5e
H

Which of the two Lewis Dot structures is the correct structure r (b)] (circle one) (1 pt)
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Quiz VI General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/11 M 9:30 am Form B quiz #

. Name /(-\ @[4/ Name

(print name) 7 (sign name) Please show all work for full (& partial) credit

1. Periodic trends: (10 pts, 2 pts each)

a. Circle the larger (hlgher radius) element: r (Be)] (circle one)
N~y Argl ™
1rcle the éivement With the higher 10mzat10n energy: [(C) ord (circle one)

’1 C -tppUode o S, 20 - A0S fOred Smalle 52t bt

c. Circle the element with the h1gher efcctroncgatlwty [(Br) or (circle one) f
nO5Y CW 1S G 1€
d. Circle the larger of th&'two choices: [(Cl) or @ (circle one)
nogatige | o 1S > g8 . .
e. Circle'the more reactive metal (in reactio ere the metal is oxidized): [(Li) or (K)] (circle one)

2. Give the Lewis Dot Symbol for the element ¢ the dots are clearly visible. (5 pts)

3. Give the electron configuration for the ion shown: Ca™® (5 pts)

c
# o+ 4(7) = 9)

Which of the two Lewis Dot structures is the correct structure {(a) of (b}] [circle ong) (1 pt)
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Quiz VI General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/11 M 10:30 am Form A ql.ilZ #
blpw

Name ,k @{/\/ Name
(print name) (sign name) Please show all work for full (& partial) credit

1. Periodic trends: (10 pts, 2 pts each)
a. Circle the larger (hlgher radius) element: r (C1)] (circle one)

RCrI95 povig, y) S|
b. Circle the ement wit the hlghgﬁggﬂa%’gl energ){r f(Alyor (TD)] (circle ong)_/,—“\
I - M@@v i v gy > L e g
%ch%g él w1th th%gxgher elec ronegatlvity: 1(Se) or@ (circle one) %W

C.

mest €n
d. Circle the large of the two choices: @r (Fe™)] (circle one) )
@ {circle one)

Cation s Smaller
e. Circle the more reactive metal (in reaction where the metal is oxidized): [(Na) or

WAOVE Vepdkive CQQUUY\M
2. Give the Lewis Dot Symbol for the elemelit Ne  Make sure the dots are clearly visible. (5 pts)
Mo w gvope T 4 Fvdore €

et
[ ¥
..l\ie. 85&),{—;, Ok Z/"W“
3. Give the Lewis Dot Structure for the ionic bonding for: (5 pts) _ .
+ L
Mo (oses 48 W PilEYn
¢
CHEPTNG.
Na : Cclg
Y]
Extra Credit: The number of valence electronsin = PCl; is 2 E shiow work)

5+ 77((2):2(0

Which of the ﬁfo Lewis Dot structures is the correct structure @r ()} (circle one) (1 pt)
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Quiz VI General Chemistry 1 Lecture Fall 13 Dr. Hahn 20 pts 11/11 M 10:30 am Form B quiz #

Name / < in Name
(print namé) V4 (sign name) Please show all work for full (& partial) credit

1. Periodic trends: (10 pts, 2 pts each)

a. Circle the larger (higher radius) element: or (Br)] {(circle one)
St te § ARCESST P e
ircle the element %t%e hlgher ionization enefgy B Ba) pr @

L G 1?(:1 the \1ement \mgn ﬂge htghér elec(g)negatl% S@ 0 @

5§ mOsk
ircle the larger of the two choices: [(S) or 01rcle one)
‘RN O~ (S r? O
tal (in reactlon where the metal is oxidized) [ @r {8)] (circle one)

e. Circle the more reactlve

VAUV S | nCrdses %mvf
i i bol for the element  In ake sute the dots are clearly visible. (5 pts)

2. Give the Lewis Dot S
I~ Growp THh, svalecc €, 3doks
o In on 4 iells

3. Give the Lewis Dot Structure for the covalent bonding for: (5 pts)

U»h%p—%@d]ﬁ: N P - xx

Extra Credit: The number of valence electronsin =~ NHj is (_’P/ (2 pts) (show work)

5 +3() =

H
Which of the two Lewis Dot structures is the correct structure [(a) o@circle one) (1 pt)
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Quiz VI General Chemistry I Lecture Fall 13 Dr.Habn 20 pts 11/11 M 9:30 am Form A quiz # 4#:“{ 2/

Name ] Name B
(print name) : (sign name) Please show all work for full (& partial) credit

1. Periodic trends: (10 pts, 2 pts each)

P

Circle the larger (higher radius) element: [(Si) or (Sn)] (circle one)

b. Circle the element with the higher ionization energy: [(K) or (Ca)] (circle one)

c. Circle the element with the higher electronegativity:  [(C} or (N)] {circle one)

d. Circle the larger of the two choices:  [(Na) or {(Na")] (circle one)

¢. Circle the more reactive metal (in reaction where the metal is oxidized): [(Ca) or (Be)] {circle one)

2. Give the Lewis Dot Symbol for the element F Make sure the dots are clearly visible. {5 pts)

3. Give the electron configuration for the ion shown: Se? (5 pts)

Extra Credit:  The number of valence electronsin =~ H20  is (2 pts) (show work)

Which of the two Lewis Dot structures is the correct structure [(a) or (b)] (circle one) (1 pt)
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Quiz VI General Chemistry I Lecture Fall 13 Dr.Hahn 20 pts 11/11 M 9:30 am Form B quiz # (7 }

. Name Name
{print name) (sign name) Please show all work for full (& partial) credit

1. Periodic trends: (10 pts, 2 pts each)

i

Circle the larger (higher radius) element: [(Sr) or (Be)] (circle one)

b. Circle the element with the higher ionization energy: [(C) or (O)] (circle one)

¢. Circle the element with the higher electronegativity: [(Br) or (C1}] (circle one)

d. Circle the larger of the two choices: [(CI)or (CI™M] (circle one)

e. Circle the more teactive metal (in reaction where the metal is oxidized): [(Li) er (K)] {circle one)

2. Give the Lewis Dot Symbol for the element Si  Make sure the dots are clearly visible. (5 pis)
Si

3. Give the electron configuration for the ion shown: Ca' (5pts)

Extira Credit: The number of valence electronsin =~ CCly is (2 pts) (show work)

Which of the two Lewis Dot structures is the correct structure [(a) or (b)} (circle one) (1 pt)
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Quiz VI General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/11 M 10:30-am Form A quiz # { ~ ka

Name Name :
{print name) (sign name) Please show all work for full (& partial) credit
1. Periodic frends: (10 pts, 2 pts each)

a. Circle the larger (higher radius) element: [(P) or (C1)] (circle one) .

b. Circle the element with the higher ionization energy:  [(Al) or (T1)] (circle one)

¢. Circle the element with the higher electronegativity: [(Se) or (S}]  (circle one)

d. Circle the larger of the two choices: [(Fe) or (Fe™)] (circle one) P\),

e. Circle the more reactive metal (in reaction where the metal is oxidized): [(Na) or ( o)1 (circle one)

2. Give the Lewis Dot Symbol for the element Ne  Make sure the dots are clearly visible. (5 pts)
Ne

3. Give the Lewis Dot Structure for the ionic bonding for: (5 pts)

Extra Credit: The number of valence electropsin -~ PCly s (2 pts) (show work)

Which of the two Lewis Dot structures is the correet structure [{(2) or (b)] (circle one) (1 pt)
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Quiz VI General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/11 M 10:30 am Form B quiz # t B )

Name - MName
{print name) (sign name) Please show all work for full (& partial) credit

1. Periodic trends: (10 pts, 2 pis each)

a. Circle the larger (higher radius) element:  [(Ga) or (Br)| (circle one)

b. Circle the element with the higher ionization energy: [(Ba) or (Be)] (circle one)

¢. Circle the element with the higher electronegativity:  [(Si) or (8)] (circle one)

d. Circle the larger of the two choices:  [(8) or (S) (circle one) L

e. Circle the more reactive metal (in reaction where the metal is oxidized): [(K) or (}}5)] (circle one)

2. Give the Lewis Dot Symbol for the element Im Make sure the dots are clearly visible. (5 pts)
In

3. Give the Lewis Dot Structure for the covalent bonding for: (5 pts)
Br Br
Extra Credit: The number of valence ¢lectronsin -~ NHj is (2 pts) (show work)

Which of the two Lewis Dot structures is the correct structure [(2) or (b)] (circle one} {1 pt)
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